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> Z— L 5 =20 o2~ 27— &~ 5
Student: Instructor: Alfredo Alvarez Assignment: \Z A e o
Date: Course: Math 1314 Sullivan Coreq finalm1314kellymathboss32midterm / /

1. Solve the quadratic equation by factoring. .= —é Z——Z &&— [ 5 =0 46 k/rl l‘(

2-2t=15 / (é ‘f“ﬁ) (-@ f) - O _ -
( The solution set is { b éf—f—g = ot '6 -s =0 = _("w""‘"(

(Simplify your answer. Use a comma to separate answers as needed.) OL é S+ < O"t N

&t 3 »07 3

Answer: -3,5 (ﬂ_é ~ OA @
I ID: Quick Check PF4.9. I B | |
T 7 4*7 ) =C 7 =9 Aoy =L F ]
2. Solve the equat{ - "j Zl ( é’ L é( Firsf / 238/ ]
o R 9t 3 z
7xC +x2 -63x-9=0 7 2T Pt @9) 'rﬂ"‘l /7“)5
¥4 7 [ i
The solution set is ('E' ‘f T t ; + 3 T|I \\
(Simplify your answer. T n‘fﬁfeger or a simplifi ed fraction. Use a comma to separate answers as needed T
=4 - Ty —( AN
Answer: 1 23 = B Z [ X = ? [
= —' -3, e _ﬂ_____.————"'_'_ . = g, —
7x—+( = © / 7
ID: PF.4.39 7/\/41/ —f < o—{( /Y ~ ‘“L‘fj _‘:ﬁ

Find the@d (P1 Pz) between the given points

Y
\3 Al SVl —) 5 o1 ),
Q _

Eat ék/f\w +((11-(5))
'. d (6+1) " T (1—c) FrE
JE W—F(#)L

lDf/ @//(/: \
\ | <3 f&éus v >
— ﬁ 0 wa /

i 4//' (‘//"0'7) /% 741{ CJ‘“'
' Nofss_{f o D —0/18/2020, 9:46 AM
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—_—
4. Find th@poing,of the line segment joining the points P, and P,.
o

Py =(2, -6),P,=(4,6)

The midpoint of the line segment joining the points P, and P, is
(Simplify your answer. Type an ordered pair.)

Answer: (3,0) ( Z -6 ) M / / 4 /
ID: F.1.39 1// Y/ /f/z 9

/M LC'//'ﬂ()wﬁZ . M j_(_“z‘?a)

Z -
pdpot - (@120 QD)
2. |

)

/”4!/(}%.\/ i ( 2+ : ___
Wl/{/ i (’i z,)

Q@/ /a - (3 0) ey

L/\/\/\

20f 38 2/18/2020, 9:46 AM



1Hlallll 1 5 19KC1l y ITIdU100550 ZITHUALCTTII -AILTCAdO Alvalcs nUps.//xiemprod.pearsoncmeg.comy/apl/v l/printymath

For the equation x° +y? - 4x - 8y - 16 =0, do the~ L //{‘L( I\m-‘r
Co? ) i

~z

following. 4

; o
(a) Find the center (h,k) and radius r of thg circle. L(
(b) Graph the circle. / !

e
(c) Find the intercepts, if any. 4

4

qQuwrt S

pr——

,,/‘{Oxa','e’ii. 2 ] 2 4 & 8 10
2]

(a) The center is
(Type an ordered pair.)

L Be

o
L

[or 3
0o~

The radiusisr=

(b) Use the graphing tool to graph the circle. 4
(c) Find the intercepts, if any. Select the correct choice B
below and, if necessary, fill in the answer box to complete 1
your choice. B

10

A. The intercepfi(s) is/are

(Type an ordered pair. Use a comma to { —-{- ‘v — f( — 077 __/(J

separate answers as needed. Type

exact answers for each coordinate, using _(/x/ j 14 __/7 7 / é' Ve b ‘(L

radicals as needed.)

ABwThm) T‘o::t’r:ept( - "“))U —J79 ( z(w”)) /Gf/J (—4) fﬂ/~7))
o V=% +(0) T}L f’y )T fo+ ) S ()
KT A g gy s [ E A
£ g 3/2 )\ ({("L)Cé l)—f (9= )(9— ) }(
: } (’(“’1) + (§ —¢) ¢
\ _2" (ﬁk”/ ../H @v@f / 2, 9)

0 -8 _'5 ' 4 _'}\ 2 i __,.-- m — /

;,__-_-- d/IMS\V

A. The intercept(s) is/are (2-245,0),(2+245,0),(0,4-442),(0,4+442) .
(Type an ordered pair. Use a comma to separate answers as needed. Type exact answers for each
coordinate, using radicals as needed.)

;/.:f.'--" . - —
3 0f38 \_//’—\_/,,..- ~ 271872020, 9:46 AM
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ID: F.4.27

6. Find th@cinain of th_ahnclion.
f(x) = 1/4x -28

The domain is . (Type your answer in interval notation.) i) %

ID: 1.1.50 ///)(] t(/ﬁl/*/ffﬁ» TN

L = of -25 Lk Ax+ 1 =0

AsA ¥ —-2F=0 ~_ e
oy —RF+LF Z 0TLF

4 ocfas” 2/18/2020, 9:46 AM
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(F75)04 =

7. Forthe given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.
f(x) = 5x+2; g(x) = 9x - 8 DT I)K) =

(a) Find (f+ g)(x). (YL ~+ /rf ’("f) W& o
5 A
(F+ 9= (simpity smﬂu% / C 0o,1Y ))
—_— -

What is the domain of f + g? Select the co ow—&nd—tf—nebessary, fill in the answer box to complete your
choice. ( — 7/ )
4 — e =

O A. The domain is {x| _k
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.) ( St ) — (c;' A — f) B
O B. The domain is {x| X is any real number}f, )("‘!"/_' "“7/("(‘{’ /,C(L)l/lﬂ G\ ._\
(b) Find (f- g)(x). Q -~ |
YA 710 _\/?'/ C,_ 0o (0)
f-g)(x)= (Simplify your answer.) s\ .

What is the domain of f — g? Select the correct choige below and, if necessary, fill in the answer box to complete your
choice. /G “) ) X/ =

O A. The domain is {x| b, 4}4 . )‘(3()

(Use integers or fractions for any num in the-expre %[1 Usea comma to separate

answers as needed.) f/_ﬁ 2) —F)
QO B. The domain is {x| x is any real number}. 4‘&“( % §’/°6’/< —~/ 7X ._[ 6/
(c) Find (F+g)(x). gz/ & ~27 X~/C
(fr@))=_ (Simplify youra r)
What is the domain of f » g? Select the correct choice balow and, if necessary, fill in the answer box to

(3’)44

O A. Thedomainis {x|] )
(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) ,Z/L/‘-L - L &G /( . 7 -V
(O B. The domain is {x| x is any real number}. j 6{) / 9\/ / "f’/ =, _/,7

i S
L

Jomen )(f#/ D

f
What is the domain of —? Select the correct choice below and, if necessary, fill in the answer box to complete your——f

choice. ’ / 1'5)/4 / Y — Q
b /(v)~
O A. The domain is {x| /f//( / G

(Use integers or fractlons for fny numbers in the expression. Use a comma to separate

answers as needed.) 5 )/ 4 j’( — 6 /MI
)
”f/)/ c// I = \ 2/18/2020, 9:46 AM

f
(E] (x)=__ (Simplify your answer.)

’
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(fﬁ//ﬁ =¥ X/

(e) Find (f + g)(4).

(/-'j/ (‘Z) N OPIE

GL/:/

(f+g)4)= (Type an /rpger or a simplified fraction.)
- - )
(f) Find (f- g)(2). 3/ (V)= =d77
C —5)(0 =2
(f-g)2)= Jype mteger ra smplrﬁad fraction. )
(9) Find (f+g)(3). (,/oj)(f() = ¥ '_’Z,Z A/r——/b
(feg)(3)= (Type an.intéger or a simplified fraction.)

i
(h) Find (g] ().

or—

Answers 14x-6

//U

//M

B. The domain is {x

-4x+10

iy, =
B. The domain is {x| x is any real number}.

f)ﬁa

45x% - 22x- 16
B. The domain is {xl x is any real number}

5x+2

jrhedoma.n.s {x| L} (ﬁ( e

*5)(3) = 7s(3) L 22 /2 ~/6
”%ﬁM)—2uw/%

m? ¥s(1) —eU{3)~/6
(Ty;z j,rﬁ;asu:phfed ction)____ 6{,—/4

;m~m
}%&)”329

<z

5“/7‘&

I ¢
rm*l

T901) — T~
5"—7‘&

(Use integers or fractions for any numbers in the expression. Use a comma to separate answers as needed.)

: yiy
2 FN!

323

ID:1.1.67

6 of 38
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8 _ i . fx+h)-f(x) N
Find the difference quotient of f; that is, find h h # 0, for the following function. Be sure to simplify.

( f=x2-Tx+3

fx+h) - f(x)
— =

% £ .
Answer: 2x+h~-7 / ) /i/ rF//('?“ "
ID: 1.1.83 ’/(//4/ /,() _

h..._,_,-""'_"\
7

/@/*_/‘)/“—7ﬁ<f 5) (( 7)\/g

/)(M)/[—M)*?X—?/rrZ — W —1“7)/—3_ B
1 ; Z . i

)/Ld/LZXLﬁ% ”7)(_Zé_—f"3 ¥ 7*7)(-8 L
4
‘Z,_;(Zv-ﬁ/qé**?‘yz

2/18/2020, 9:46 AM
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9.
Determine whether the graph is that of a function by , ) I )
using the vertical-line test. If it is, use the graph to find ( 1}* )(l(
(a) its domain and range. 9 } O;‘
; . -1,1) - 1.1

(b) the intercepts, if any. ( .l. ) -
(c) any symmetry with respect to the x-axis, y-axis, or < U A R >

the origin. / (? @,

d
( "2/ 0) 4 / )
Is the graph that of a function?
("""“/ Yes

— -N'c"'_

If the graph is that of a function, what are the domain and range of the function? Select the correct choice below and
fill in any answer boxes within your chonce// oL f V')'f g

A. Th{iomam |£( - 90 -(V) The 14 n)ge |!; ( )c“ ’j ?’ /éa/‘am 7_&/—1

(Typ& your answers in mterval notatio

B. The graph is not a function.
What are thei ntercepts? Select the correct ch0|ce below and fill in any answer boxes within your choice.
s {-—*lvl AT / 4/-1 L{
- -~/ g 4-'
A. 2 ( 7 C 0, | ) )
(Type an ordered pair. Use a comma to separate answers as needed.)

B. There are no intercepts.

C. The graph is not a function.

Determine if the graph is symmetrical.

— —_—
""TA. It is symmetrical with respect to the y-axis.
B. It is symmetrical with respect to the x-axis.
C. Itis symmetrical with respect to the origin.
D. The graph is not symmetrical.

+ E. The graph is not a function.

Answers Yes

A Thedomainis (—-o0,00) .Therangeis (= 00,1] ;
(Type your answers in interval notation.)

A. (2,0),(~2,0),(0,1) (Type an ordered pair. Use a comma to separate answers as needed.)

A. It is symmetrical with respect to the y-axis.

ID: 1.2.21

8 of 38 2/18/2020, 9:46 AM
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10. Using the given graph of the function f, find the following.

(a) the intercepts, if any _ +#
(b) its domain and range - -~
(c) the intervals on which it is increasing, decreasing, or constant

(d) whether it is even, odd, or neither

{,L-cc'/x] {

s "'
i f1ar?

—~/1 TR o
(a) Whatare the(tercepts‘? “’/ ~ "/ o
2, 2,® (9)2)
(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)
(b) Thec@naih is [-3, sz é (/ f( risA *J
(Type your answer in interval notation.)

Tﬁ:h (o, 3 [ &= (Lu%é; - 7@;&?‘

range is
(M

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in am/ﬁue Xes wrthu
your choice. — 4 7— G I ) /

A. Thegraphm@on LC) OJ (‘j Sf {"déj J'uk{’/‘{ (/Ll,&z(

(Type your answer in interval notation. Use a coyﬁma to separate answers neec{ed.) )7
0 )[{ ¢ (/0 V’

a4 nn b LS r:’Vf-f-)
| in any answer boxes within

clw7 Wit g

d ek %f/c

-your answer in interval notation.)

B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and
your choice.

A. The graph is(;e—a;?})on ( —LK [Z) Zj

(Type your answer in interval notation. Use a comma to separate answers as need

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your
choice.

A. Thegraphis constant on

(d) The function is (1)

C (1 ) “/éven .
—\_,—————'_'_'_-_._.‘-.

odd.

neither odd nor even.

9 of 38 2/18/2020, 9:46 AM
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Answers (- 2,0),(2,0),(0,2)
[-3.3]
[0.3]

A. The graph is increasingon [-2,0],[2,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasingon [-3,-2],[0,2] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) even.

ID: 1.3.25

10 of 38 2/18/2020, 9:46 AM



finalm 13 14kellymathboss32midterm-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

11. The function f is defined as follows.

4+x ifx<0
0 = _
2 ifx20

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a) Thﬁ/ma; of the function f is E —_ 7 (}C") & //4’//) '//2’4/’)

(Type your answer in interval notation.)

(b) Locate any intercepts. Select the correct choice below and, if necessary, fillin )Qe answer box to complete your
choice. {,,w{ilw/]f' )n/'(/‘ P

O A. The |@ept(s) is/are M / ( () U v)/ ) Lf"’""'}

(Type &@n ordered pair. Use'a comma to separate answers as needed.)

(O B. There are no intercepts.

(c) Choose the correct graph of f(x) below.

O A. OB.

(d) The range of the function f is
(Type your answer in interval notation.)

Answers (- c0,00) 7 /0/)
A. The intercept(s) is/are (- 4,0),(0,0) . (/ . / C— / o _l s
(Type an ordered pair. Use a comma to separate answers as needed.)
b d G 5 b
\\

(= 00,00) /
J” e po ) o 7 i
ID: 1.4.37 OPEr—_

o W, — }(< O Circly
vy & 7‘ Y- ( ) s

N X" (X= o) el ;

11 0of38 2/18/2020, 9:46 AM
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12. The graph of a function f is illustrated to the right. Use the graph of f as the first
step toward graphing each of the following functions.

(a) F() =f(x) +2 (b) G(x) =f(x +5) (c) P(x) = —f(x)

1
(d) Hp) =f(x + 1) - 1 (e) Q(x) = = f(x) (M g(x) =f(-x)
3

(9) h(x) = f(2x)

(a) Choose the correct graph of F(x) = f(x) + 2 below. A ‘

12 of 38 2/18/2020, 9:46 AM
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1
(e) Choose the correct graph of Q(x) = Ef(x) below.

(f) Choose the correct graph of g(x) = f( — x) below,

7/ B. C. D.

13 of 38 2/18/2020, 9:46 AM
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Answers

ID: 1.5.63

14 of 38 2/18/2020, 9:46 AM
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13.
(a) Graph f(x) = |x - 6| - 4 using transformations. ‘ }jk-;
(b) Find the area of the region bounded by f and the W
x-axis that lies below the x-axis. &
(a) Graph f(x). %]
(Use the graphing tool provided to graph the function.) dt
24
(b) The area of the region bounded by f and the x-axis | )
that lies below the x-axis is square ——r—g—T— ’ - — : ; P
units. 0o -8 g 4 4 2 Ri 6 8 10
(Simplify your answer.) 4
A
-6+
8-

Answers

A0
bt
A — -—-/ L

—

ID: 1.5.81 )( me A —
et =~
)= maf - /9

15 6F 3 2/18/2020, 9:46 AM
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14. Find t(orzaros if any, of the Eu’adratlc function usrng thg\quadrat:c fon'nula What are the x-intercepts, if any, of the
graph

the function?
f(x) = 8x% + 11 + 20x "‘(7 /x’ 0/2( =1 Z,,( — (7

Select the correct choice below and, if necessary, fill in the answer box to complete your ch0|ce. -
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are . the x-intercepts

O B. . D

are

(O €. There is no real zero solution and no x-intercept.

-5+43 -5-43
Answer: A. The zeros and the x-intercepts are the same. They are p . p .

A - Txt —t v+

ID:2347 (AT X) bz 2o, C~ Iy .

: -h_z_(.;- ——

16 of 38 2/18/2020, 9:46 AM
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Jr p A
,\/l )(

W("a?&
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4
\ / For the quadratic function f(x) = x2 +6x, answer parts (a)

through (c).

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

Does the graph of f open up or down?

O down
O u

What are the coordinates of the vertex?

The vertex of the parabola is

(Type an ordered pair. Use integers or fractlons for any
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

O A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

(C) B. There are no x-intercepts.
What is the y-intercept? Select the correct choice below

and, if necessary, fill in the answer box to complete your
choice.

O A. The y-intercept is

(Type an integer or a decimal.)
() B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is
(Type your answer in interval notatlon )

The range of f is
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it

ie AdarraacinA

18 of 38
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Answers up
(-3,-9)
x=-3
A. The x-intercept(s) is/are 0,-6 . -
(Type an integer or a deC|maI Use a comma to separate answers as needed.) — ﬁ
A They- lnteroepi is .(Type an integer or a amal ) ,/0(/ )( 7¢ )<
o <

/20

7’“’_

19 of 38
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55-’ ///( ///(“‘(

ﬁ{(/
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@

“For the quadratic function f(x) = x2 - 4x - 5, answer parts

(a) through (c).

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

Does the graph of f open up or down?

() down
O up

What are the coordinates of the vertex?

The vertex of the parabola is

(Type an ordered pair. Use integers or fractlons for any
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

(O A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

(O B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

O A. The y-interceptis
(Type an integer or a decimal.)

(O B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is
(Type your answer in interval notatlon )

The range of f is
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it

ie Aarraacinn

21 0f 38

https://xlitemprod.pearsoncmg.com/api/v1/print/math

20+

164

x

Y

| L L ALY LUR. 0GR I N Lt I LS O A

20 -6 12 -8 4
o]
124

164

12 16 2

S5
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Answers up /J_ o ) J L S/ |
2.-9) 2 204 M 0" A 5}
x=2 Fd Ll (Q\

= —
L& =
A. The x-intercept(s) is/are 5,-1 ( O(- A lﬂ 3/ P < —_—
(Type an integer or a decimal. Use a comm pa’r?f an WQ;é as’needed.) - \ '
. 5

g & ;
A. The y-intercept is -5 (Type a\'up eroradecimal.) { ,} - / _,_..-%,...——-
//;( - d

200 16 12 -8 -4

RO ’“") -

G ren¥ \/(,(,lx 70“
}44 (A
(- o0,0)
[-9,00) (/\/ ( ’\(/('/(/‘&{_3—-——%%\
[2,00) e ~ o
(~0,2] - VV\(-/‘, - ~/ L.
ID: 2.4.37 )(*"‘/"*ﬁ;/ = L-

—Vh (=
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/ﬁ;l/ el
//3 " v»{f >
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-

‘A
(1

_~'For the quadratic function f(x) = X +4x + 4, answer parts 20 M
(a) through (c). |
16
(a) Graph the quadratic function by determining whether its 12 _.
graph opens up or down and by finding its vertex, axis of ]
symmetry, y-intercept, and x-intercepts, if any. 8-
Does the graph of f open up or down? 4
O down I“'i"‘l'“F'_"l"'-"'lf"t'"t"'l"'ip;
O 20 <16 12 8 4 1 4 B8 12 16 20
up 4]
What are the coordinates of the vertex? _8;
The vertex of the parabola is 12.
(Type an ordered pair. Use integers or fractlons for any 1
numbers in the expression.) -16
20/

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is the y-intercept? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

O A. The y-intercept is 5
(Type an integer or a decimal.)

(O B. There is no y-intercept.

What is/are the x-intercept(s)? Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

(O A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

(O B. There are no x-intercepts.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is
(Type your answer in interval notatlon )

The range of f is
(Type your answer in interval notatlon )

{c) Determine where the function is increasing and where it
is decreasing.
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Answers up
(-2,0)
x==-2
A. The y-intercept is 4 .(Type an integer or a decimal.)

A. The x- mtercept(s) is/are -2
(T ype an mteger or a decimal. Use a comma to separate answers as nee
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( For the quadratic function f(x) = - 2x? + 2x - 1, answer 3 OjP‘f
parts (a) through (c). Verify the results using a graphing 1
utility. 8

6

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of 44
symmetry, y-intercept, and x-intercepts, if any.

2

Thegraphoffopens(1)_— | EIALIY 5 LR SR SR S YA T T T T r'ix‘;

0 8 6 4 2 1 2 4 & 8 10

The vertex of fis -2
(Type an ordered pair.) _4_1
The axis of symmetry is _5_
(Type an equation. Simplify your answer)
-8
Determine the y-intercept. Select the correct choice below 1
-10-

and, if necessary, fill in the answer box to complete your
choice.

O A. The y-intercept is ;
(Type an integer or a decimal.)

(O B. There is no y-intercept.

Determine the x-intercept(s). Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

(O A. The x-intercept(s) is/are

(Type an mteger or a decimal rounded
to two decimal places as needed. Use a
comma to separate answers as
needed.)

(O B. There is no x-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis
(Type your answer in interval notatlon )

The range of fis
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it
is decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

The function is decreasing on the interval
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(1) up.
©  down. ﬁ
Answers (1) down. - —
1.4 ) © -2 X
2' 2 ;
1
X=2
A. The y-intercept is -1 .(Type an integer or a decimal.)

B. There is no x-intercept. VVI o ]L
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19. Fmdt e vert 9!@0} d oblnqueﬁnptotes if any for the following rational functJL L
s =9 /7

0 < Nﬁ%’” (1=

Select the correct choice below and fill in any answar boxes within your cholce /7 J ,—/ )7
(XA/8—

O A. The vertical asymptote(s) is/are x = )
(Use a comma to separate answers as needed.)

(O B. There is no vertical asymptote. _
le{ & S //u,é
M@Mﬂ%% { '
,.Z’X f—'-"‘\,
O A. The horizontal asymptote(s) is/are y = /
(Use a comma to separate answers as . needed. ) ,( 7‘ / x A ‘[ /ﬁ/ T 7@ ﬂ
(O B. Thereisno hon%ntal aBymptotz_ (, - 1925 é/ 74/
10 O 2, / Ve ¥
w 5 Mrchomﬂlj4¢}1 o

Select the correct choi w and fill in any answ
O A. The oblique asymptote(s) is/are y = : - é -
(Use a comma to separate answers as needed.) / X /
O B. There is no oblique asymptote. o 2
[
Answers A. The vertical asymptote(s) is/are x = -18 . L%/

(Use a comma to separate answers as needed.)

A. The horizontal asymptote(s) is/are y =
(Use a comma to separate answers as needed.

B, There is no oblique asymptote.
%4_ / 45/“/ "’:ﬂé \

ID: 3.4.45
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20. Forf(x) =9x + 8 and g(x) = 9x, find the following composite functions and state the domain of each.

30 of 38

(a) fog (b) gof (c) fof (d) gog
(@) (fog)x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

{ A. Thedomainoffogis{x| }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

{ » B. The domain of f o g is all real numbers.
(b) (g o f)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

€3 A. The domain of g o fis {x | 3.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

"3 B. The domain of g o fis all real numbers.
(c) (fof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

() A. Thedomainoffofis {x| }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

i ) B. The domain of f o f is all real numbers.
(dy(gog)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

" A. The domainofgogis {x| }.
(Type an inequality. Use mtegers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

« B. The domain of g o g is all real numbers.
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Answers 81x + 8
B. The domain of f o g is all real numbers.
81x+72
B. The domain of g o f is all real numbers.
81x+80

B. The domain of f o f is all real numbers.

:)'(I'he domain of g o g is all real numbers. ‘[k) 5 of
ID: 4.1.23 @q 74(/: Ser ‘“C/ j()(/: 7 )

(Aj)ﬁ(/ x
Ar504))*

A7) @’”“ ﬂi&f (e

G(74L1-
2xeP=
__________._,--/

(2Dl fra € 7 (= A G0 =X
(506))-
$( fe) =
j(‘%(—ff)l
G( TK7Y)°
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@ ; ,-'Zhe function f(x) = 6x + 2 is one-to-one. A

~ (a) Find the inverse of f and check the answer. 20
(b) Find the domain and the range of fand f . 16
(c) Graphf, f~ ! , and y = x on the same coordinate axes. -
- 8]
(@) f (%)= :
(Simplify your answer. Use integers or fractions for any 44
numbers in the expression.) ' x
_ 20 -16 42 8 4 1 4 & 12 18 20
(b) Find the domain of f. Select the correct choice below 4]
and, if necessary, fill in the answer box to complete your 1
choice. 5
124
A. The domain is {x|x2 I3 ]
16
B. The domain is {x|x# D ]
204
C. The domain is {x|xs |

D. The domain is the set of all real
numbers.

A. Therangeis {yly# }
B. The range is {yly2 }.
C. Therangeis {ylys i
D. The range is the set of all real numbers.

Find the domain of f~ 1 . Select the correct choice ﬂelow
and, if necessary, fill in the answer box to complet% your
choice. :

A. Thedomainis {x|x=
B. The domain is {XIX?*

C. The domain is {x|x=

D. The domain is the set of all real
numbers.

The range is {y]y #
The range is {ylyz
The range is {y|ys

The range is the set of all real numbé{s.

-1 \

©o 0w >
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x—-2
6

Answers

D. The domain is the set of all real numbers.
D. The range is the set of all real numbers.
D. The domain is the set of all real numbers.

D. The range is the set of all real numbers. g {/(

78

|||||||||||||||||

~_ID:4.253

22. Solve the equation. WW
16~ %44 = 128" B

The solution set is i
(Type an integer or a simplified fraction. Use a comma to separe%answers as needed.)

—7X (76 X -
Answer: 16 i 2_ ;‘ 2”;:
D:4373 X F 76 = &
"'7")(7}75’ —F76 = X=17% i/
X T ~7¢ .
~X~TX = 7X~176—7x e 3

c —
=27 _ o
o= ' '_ _'____Z__.___La-&"""f__
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| (vad I . ! -
23. Solve the equation. L/\/\)( uz/ /o/ ( /—f/) .

log,(2x+1)=3 —
92 ) o/ N

“ ,f 4
Change the given logarithmic equé{lon to exponential form. 2 3{ Z )/_f /

(Type an equation. Do not simplify.) 2 Z § 2 . Z/ ){ —F {
The solution set is L—} g - Z/% — /

(Simplify your answer. Use a comma to separate answers as needed.)

= I+ (—
Answers oy 4 1 = 23 5 I ( ) / /
. 7 < (X

2 g
7 - £

ID: 4.4.91-Setup & Solve

—
24. Write the expression as a sum and/or difference of logarithms. Express powers as factors.

/ ;
Iogl:x(x+6):| e Jr ’)14{

(x+3)8 | <Z( (ﬁ) (/Uﬁﬂ,} (/U‘)//’/ﬁ
Answer: log x+ log (x +6) - 8 log (x +3) ( 3 /lﬁy C”)M/’/—(”f (K’g

ID: 4.5.51 < //) / /\/(/6’) ﬂ/ ’
Zo; ()(Q/-f’()

@45)”7

(/Ojf((/-f(\)
Los (A ’ﬁCU)(/ﬁ‘Uﬂ LJ—(X—”)

éU)M —%—(05(/{/7‘()'—*—“ 7@5 /{/—/3) -

6
log [x(x 2 3)} = (Simplify your answer.)
(x+3)

(U) (/(v 3)\{—

>
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Lo /( 4 / K/ —¢7) < cale
s (/ & -+ los(0-) = T

log x+ log (x-48)=2 - ,‘/ ( /"’5"‘ x’f’
Determine the equati /d ing i é(/ [ ( (Z,)_ &
quation to be solved after removing the I?ganghm. S’Y/) e (._15

/N = el x
mon.Donotsimplify.) O';/\/l_ C///,-fdd \ G{)(/Q{ ’?””C'(

Select the correct choice below ag if necessa f' il in the ansgr box to oomplete your choice. a /’ .

finalm13 14kellymathboss32midterm-Alfredo Alvarez

25. Solve the logarithmic equation. /;7

O A. The solution set is { _____
(Simplify your answer. Type an exact answer. Use a comma to separate answers as

needed.) e — A ’_’&,0 =
(O B. Thereisno solutton/ ( O J X‘ -

Ke)—l =0~ T g A~¢ Sor s =7

e @W
A. The solution set is ~——-=C (g_k

(Simplify your answer, Type an exact answer. Use a comma to separate answers as needed.)

Los(=2) plos (=L gy
ID: 4.6.17-Setup & Solve “5% ) /-fu),.ﬂ

e e —

‘_,_.-—\—;__
[ S T
26. Find the amount that results from the given lnvestment /4 / ( / a | /l///

$300 mvested{Zig;ompounde@rtarlz;ﬂér a peno@

After 4 years, the investment results in $
(Round to the nearest cent as needed.) )

4’5)700' (/’TL £ Y= 7{‘?/#

A"swe”a”%/ gc,({,,”/z) A= #yl. V//?J/?T‘*”"
ID: 4.7.7 A }JQ[/# /ZL%(/C §/Z/ (/W}u,//

\—-\.__,_.—‘_..4-—
27. How many years will it take {o_r an initial mvestmanﬁz@ grow ta $70, 0007 sume a rate of interest of

(Mpounded contmuously /1 /ﬂ(& Ve

It will take about years for the investment to grow to $70;000 Y =
(Round to two d%ccmal places as needed.) )ZZ ( 3. S ) E ¢ & £
. 7 '

Answer: 626 /0000 800006 (3 2 ‘() il _;ﬂ,

70Qc>u /d’ciou(-') 0O « 20

|D4741~5£OOO(J _&0TTO (’m —{/

30 — C__)aCU{- S~
Ll e CCLGSTTTES

Answers x(x - 48) = 102

/‘::70;)_ .
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28. Solve the system equahons If the system has no solution, say that it is.incomgistent. l Z /( Y (/
2X =Y < - -
2x - 4y— j 7 __Z_/_-éﬁ( < -zi
5x +y =13
Se

lect the correct choice below and, |f necessary, fill in any answer boxes within your choice.

28y ~f0 %/

A. The solution of the system is x = andy= Sw és'/’d Z }(. (-/j — 27
(Type an integers or simplified fractions.) v ( Z) =
B. There are infinitely many solutions. Using ordered pairs, the solution can be written as j

{(x,y)|x= . , Y any real number}. y _—C/j

(Simplify your answer. Type an expression using y as the variable as neede

C. The system is inconsistent.

Answer: A. The solution of the system is x = 2 andy= 3 . 9 - / T
(Type an mtegers or 5|m_pllf ied fractions.) -

ID:6.1.33

29. Solve the given system of equations. If the system has no solution, say that it is inconsistent. « /2 J
2 L s i, ot T Tyl

; . Z } 3
a /=¥
- — L /-'
3 TS

Select the correct choice below an fﬂl"hﬂy&nﬂedﬂomﬂﬂtﬂlﬂﬂ&hﬂﬂaﬂ

X-2y+3z= 3
2x+ y+ z= -4
-3x+2y-2z= 2

A. The solution is x = Y= ,andz= . (Type
integers or simplified fractions.)

B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy2) | x= Y= __,zany real number}.

(Simplify your answers. Type expresswns usmg z as the variable as needed.) Z .
D

C. There are infinitely many solutions. Using ordered triplets, they can be expressed as )
{xy2) | x= .y any real number, z any real number}. ¢ £r; X

(Simplify your answer. Type an expression using y and z as the variables as needed )
D. The system is inconsistent.
" y /44/4 K (/\>
Y=, / A7 ,9
Answer: A.

The solution is x= ,and z= 1 . (Type integers or

simplified fractions.)
ID: 6.1.45 l/sl/{[ﬁlﬂj) /—/ 7 O:/z
e _ —t0 O \/ Y
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2 &‘x;f,\ij//
(30~ 1) + (36)-0)= (3(4)=7(7()=¥):
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30. Find the sum of the sequence.

Z(3k—a) =
. (31-7)+

Ems)— e ) =
S @-P 1 (6-2)7(F-r7) + (=0 F (172~

A"swe"“'(é,ﬁj—f(-?,)-f' (#) +( ) +(7)=
ID:7.1.73 _S- .

31. Expand the expression using tw, (o( 5 { 5 P /A C < / (& / L_!, 4

(x+2)°

& ?O(Xz+2)“f ¢ ((5)(2 ' _'L ‘C‘:Z ()()f?.) 4 C/)C)/d 7 (é(f 9/7( (W ZZ”’

(0( f//)#/M// }fx(zj/(// )+ (/r)/ ///4/4 " Sl

(r/é l_/?/r ) fer 2 . [ o M G@pz)'f
~16% _[‘-7"‘4‘ { 2776 v
in rsnluhonsoﬂheequa — 4
F W7 Th

O A. The solution set is
(Simplify your answer. Use a comma to separate answers as needed. )

O B. The solution is the empty set. 3 @ ([ = ([*7)(1’(“"7 ) 1 z el
3 V-f/( =14 757
Answer: A. The solution set is

(Simplify your answer. Use a comma to separate answers as needéd.

3 K S s 7+ 3(,1) ~/]
ID: A.8.55
O = Y “~/rer g5 3/ ]~ <
Oyt —i7¢+ €°© 74 (25 =

C/C'()(—‘TQ((——)/(Z> -,
)/" PP 0/{ = B
Xi(/f/dﬁfﬂﬁ /"/i'f/l =07/ /&,— g

— Ak, —
@ = . o0 /
@ 2/18/2020, 9:46 AM
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